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1 Introduction

When UE mobiles from EUTRAN to UTRAN or GERAN , KASME shall be used to derive IK,CK. Because the target network trusts the keys that mapped from KASME ,  the mapped key(s)  might  be reused by using CKSN or KSI after the inter-RAT mobility has finish ，but networks has not allocate the new KSI( CKSN) for the mapped key(s) during inter-RAT mobility , so this contribution will propose using the KSIASME to MAP the KSI or CKSN .
2 Discussion 

 Both KSI and CKSN are used to identify the key(s) , so that UE and networks can negotiate to reuse the key(s) without invoking the authentication procedure .They are allocated by networks and sent to UE with authenticate request message during authentication. When UE mobility from EUTRAN to UTRAN or GERAN ,  IK and CK are derived from KASME, but these is no KSI allocate for the derived IK /CK, once the inter-RAT mobility finish , UE and SGSN will no way to reuse  the derived key(s), if UE and networks wan to reconnect   or reconfigure RRC, new AKA have to be run,  this will decrease the user`s  satisfaction of using 3GPP service . so in order to provide the KSI available for IK,CK and not to effect the inter-RAT mobility message , it is good choice that using KSIASME to map KSI.
   During mobility from EUTRAN to UTRAN or GERAN , MME shall assign the value of KSIASME to KSI: KSI =KSIASME , and transfers KSI to SGSN with IK,CK . if the target networks is GERAN ,SGSN should set the value of CKSN equal to  KSI, viz. CKSN =KSI.  UE also assign the value of KSIASME to KSI( for UTRAN ), or to CKSN ( for GERAN). 
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               Figure 1 Key identifier mapped during inter-RAT handover 
1, source eNB make HO decision.
2,Source eNB sends the Handover required to MME.
3, Source MME assigns value of KSIASME to KSI: KSI=KSIASME, and derives IK/CK from KASME.
4, MME transfer KSI with IK/CK to SGSN by Forward Relocation Request message.

5, For UTRAN, SGSN stores KSI with IK/CK ,  if the target network is GERAN , SGSN shall assign value KSI to CKSN : CKSN=KSI , and derives Kc from IK\CK , stores CKSN with Kc.
6-8, EUTRAN networks sends EUTRAN Handover Command to UE.
9, For UTRAN,UE assigns value of KSIASME to KSI: KSI=KSIASME, and derives IK\CK from KASME，stores KSI with IK/CK; if the target network is GERAN, UE shall assigns value of KSIASME to CKSN: CKSN=KSIASME, and derives Kc, stores CKSN with Kc.
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       Figure 2  key identifier mapped on idle inter-RAT mobility 
1, UE sends Routing Area Update Request to Taget SGSN.
2, Taget SGSN sends SGSN Context Request to Source MME.

3,Source MME assigns value of KSIASME to KSI: KSI=KSIASME, and derives IK/CK from KASME.

4. MME transfer KSI with IK/CK to SGSN by SGSN Context Response message。
5. For UTRAN , Target SGSN stores KSI with CK/IK；For GERAN , SGSN shall assign value KSI to CKSN : CKSN=KSI , and derives Kc from IK\CK , stores CKSN with Kc.

6, Taget SGSN sends Routing Area Update Accept to UE.

7.For UTRAN,UE shall assign value of KSIASME to KSI: KSI=KSIASME, and derives IK\CK from KASME, stores KSI with IK/CK; For GERAN, UE shall assigns value of KSIASME to CKSN: CKSN=KSIASME, and derives Kc, stores CKSN with Kc.
8. UE sends Routing Area Update Complete to Target SGSN。
3 Conclusion 
This solution using KSIASME to map KSI or CKSN , offer the Key identifier available for derived key(s) ,We kindly propose SA3 agree it and the  corresponding CR is provided in S3-080687.
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